RAW DATA = sum of numbers above / n = 435/100 = 

Mean   Std. Dev.       Min        Max

 4.35   2.221907          1         11  

	FREQUENCY METHOD
	
	

	Word Length| Freq.   Percent     Cum.
	Length*freq
	

	 1 |          1        1.00        1.00
	1
	

	 2 |         22       22.00       23.00
	44
	

	 3 |         18       18.00       41.00
	54
	

	 4 |         22       22.00       63.00
	88
	

	 5 |         13       13.00       76.00
	65
	

	 6 |          8        8.00       84.00
	48
	

	 7 |          6        6.00       90.00
	42
	

	 8 |          1        1.00       91.00
	8
	

	 9 |          6        6.00       97.00
	54
	

	10 |          2        2.00       99.00
	20
	

	11 |          1        1.00      100.00
	11
	

	Total |        100      100.00
	435
	435/100 = 4.35


Stem-and-leaf plot 

  0* | 1

  0t | 2222222222222222222222333333333333333333

  0f | 44444444444444444444445555555555555

  0s | 66666666777777

  0. | 8999999

  1* | 001
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-5 

Z = (-5-3) / 4 = -2 

2 standard deviations to the left of m

11 

Z = (11-3) / 4 = 2

2 standard deviations to the right of m

5
Z = (5-3) / 4 = 0.5
0.5 standard deviation to the right of m

 1.4
Z = (1.4-3) / 4 = -0.4
0.4 of a standard deviation to the left of m

What is the probability P(-3<X<-1)? Is it different from P(-3<=X<=-1)? Why? 

P(-3<X<-1) = P(-1.5<Z<-1) = 0.1587 – 0.0668 = 0.0919
It is DIFFERENT from P(-3<=X<=-1)  because P(-1.5<=Z<=-1) includes the area under 

-1.5 and under -1.
